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You have the following 5 different polymers; 

Polymer A at a molecular weight of 50,000 g/mole.

Polymer B at a molecular weight of 20,000 g/mole

Polymer C at a molecular weight of 2,000 g/mole

Polymer D at a molecular weight of 1,000 g/mole

Polymer E at a molecular weight of 500 g/mole

1. If you mixed 2,000 lb of each polymer, what would be: 



The number of moles of Polymer A? _18.16_ moles (2 pts)


The number of moles of Polymer B? __45.4_ moles (2 pts)


The number of moles of Polymer C? __454__ moles (2 pts)


The number of moles of Polymer D? __908__ moles (2 pts)


The number of moles of Polymer E? __1816_ moles (2 pts)


The weight fraction of Polymer A? _20__% (2 pts)


The weight fraction of Polymer B? _20_% (2 pts)


The weight fraction of Polymer C? _20_% (2 pts)


The weight fraction of Polymer D? _20_% (2 pts)


The weight fraction of Polymer E? _20_% (2 pts)


The Mw? _14,700 g/mole_ (5 pts)


The Mn? _1,400.56 g/mole__ (5 pts)
2. You have a material silo filled with Polymer B at 250,000 lbs. It doesn’t possess the melt strength necessary for your blow molding operation; you need some lower viscosity material added so you can lower the temperatures and make the material more like taffy and less like water. You have a large quantity of Polymer D on hand and need to mix enough in to lower the Mw by 40%.

How many lbs of Polymer D do you add? ____181,779__lbs. (10 pts)

